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= Year 11   = Linear & non-linear relations    = Worksheet 4
	1. Sketch the graph of 
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	2. Sketch the graph of
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[image: image5.wmf](

)

x

f

y

=

.

                                                                                 y
                                                                                 
                                                                             2

                                                                    (2     0                x
                                      
[image: image6.wmf](

)

x

f

y

=




	3. Sketch the graph of 
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	4. Sketch the graph of
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	5. Find the equation of the circle.                  
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	6. Find the equation of the parabola.
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	7. Sketch the graph of 
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	8. Sketch the graph of 
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	9. Given 
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, find the equation of the locus of 
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	10. Find the equation of the locus of 
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	11. Refer to Q 10. Sketch the graph of the locus of P.



	Numerical, algebraic and worded answers.



5.  (x + 3)2 + (y ( 3)2 = 4


6.  y2 = 3(x ( 2) 


9.  x2/25 + y2/400 = 1


10. y2 = (12x
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